&
addazy1

S1. Ans.(c)

Sol.
In AAED,
A

50
AB=50/3m
In AABC

AB
tan30°® = —
EC

1 5043

J3  BC
BC=150m
DC=150-50=100m
100m

Bsec

Speed of boat =

100 18
=3 x 5 km/hr

=45 km/hr

$2. Ans.(a)
Sol.

n; >
113_6
(n; —2) x 180

n, 24

(m,—2) x 180 25

n;
(ny—2) n, 24
(—2) n, 25
(n,—2) 6 24
(,—2) 5 25
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(nl_zj_4'

n—2 5
S5ni1-10=4n;-8
Sni—-4nz=2
25n,

_4‘112 =2

n=12
ni =10

S$3. Ans.(b)

Sol.
A

B C
£BAC = 180° - (65 + 557)

=180°- 120
= 60°

LA
¢£BIC=90 + =
=90 +30 = 120°

S$4. Ans.(a)
Sol.

A/—E\B

(@)

C F D
EO=x0F=17-x
AB=10 CD =24
AE =5cm CF=12
In AAOE
A0% =25 +x*
In ACOF
CO% =144 + (17 - x)*
AD=CO=r
25 +x2 =144 + 289 + x° - 34x
34x =144 + 289 - 25
x=12
AD?=25+ 144
AD? =169
AO0O=13cm
Radius=13 cm

adda
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S5. Ans.(b)
Sol.
Run,,

10
Eunl10 =600

Run;4

11
Runll =682

Runi0 + 11th Inning = 682
Run required in 11th inning = 682 - 600= 82

$6. Ans.(a)
Sol.

Workers = 15 : 11

Wages = 22 : 25

Total wages = 330 : 275

Ratio by which total wage of worker be decreased

=330:275
=6:5
S$7. Ans.(b)
Sol.
Interest on 14 capital = L 4 2
+cap 2" 100
3
400
2 . 2 5 1
Intereston —capital ==X — = —
3 3100 30
Interest on L capital = * " a1 _
12 12 77100 1200
Total interest = — + L ZEMonths Subscription
400 30 1200

9440411
60 1 c

~ 1200 20

U4 he receives on the whole MAHA PACK
1 Live Class, Video Course,
=30 % 100 Test Series, eBooks
T ege
- 504 Bilingual (with eBooks)

3 | www.bankersadda.com | www.sscadda.com|www.careerpower.in | www.adda247.com


https://www.adda247.com/product-onlineliveclasses/3916/ssc-maha-pack-1-year-validity

$8. Ans.(c)

Sol.
1 1
tl - tZ
n,s-=n,
1 1
2% = 4%
1 2
23 = 2t
1 2
4t

tz =8 years

S9. Ans.(c)
Sol.

1
x - —work — 6da
4th ys

Whole work — 24 days

3th
v = e work = 12 days , whole work = 16 days

x & vy will complete the whole work in= i + l—lﬁ
24+ 16

= —
24 x 16
40

=
24 x 16
5

::, —_—
48
48

Days required = -

= diays

$10. Ans.(c)
Sol.

(2M + 3B) x 10 = (3M + 2B) x 8
20M + 30B = 24M + 16B
4M = 14B

M=_B
2M+3B=:2><§B+3B=:1ns

2M+1B=2x_B+1B= 8B
10B x 10 = 8B x Days

D 100
ays = —
v 8
25
S 2

1
= 125{135;5
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$11. Ans.(c)

Sol.

LCMof2,6,3,4=12
50,9 < 64 < 125 < 256

S$12. Ans.(d)

Sol.

(251)%% 4+ (21)%° — (106)'%? + (705)*° — 164 + 259
=1+1—-6+5—4+9

=6

$13. Ans.(d)

Sol.

The required number must also be divisible by (2%** + 1)

and among the options given, (2°¢ + 1) is divisible by (2%* 4 1)
2% 4 | = 29 4 1%

= (2%%)* + (13%)3, which is divisible by 2% + 1

[ whennis odd, (a™ + b") is always divisible by (a + b)]

S$14. Ans.(d)

Sol.
= =2 =2
(59 (5D

4 (ﬁ—v’ﬁ
-

=
=

=
~a

i _)2+2—2

\.-'?+'--'5
—

'S Vi—v5

5 ) —2

{F+€§

I
o,
-
~1|
|+
g
1 w]] wn]
o

{1 {1 {1
~3]] =1 =1
+

= = =

12 Months Subscription

$15. Ans.(b)

Sol.
x + 809436 x 809438
= A square number

= x +(809437 — 1)(809437 + 1) Useful for CGL, CHSL & others

TEST PACK

It is possible, whenx =1

= x + (B09437)° — 1 = A square number
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$16. Ans.(a)

Sol.

“x? —2x =9 = —[x? — 6x — 27]
=~ (x* —9x + 3x — 27)

=~ (x-9)(x+3)

$17. Ans.(b)

Sol.

Sum of digits at even place
=8+5+6=19

Sum of digits at odd places
=5+7+6=18

Now, to make the difference O, we have to add 1 in the unit place

$18. Ans.(b)
Sol.

ATQ,
Xy = 64

$19. Ans.(c)
Sol.

V5+xty5s-x 5

VE+x—v5—x 1
By applying componendo and dividendo

2y5+x 541 6 3

2v5—x  5-1 4 2
Squaring both sides
S4x 9

S—x - ;

20 4+ 4x = 45 — 9x
—25 = —13x
—

T

X
$20. Ans.(d)

Sol. As 476, is not a multiple of 24, we cannot get the required remainder by just dividing 67 by 24.
Hence, cannot be determined
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$21. Ans.(b)

Sol.
Let A has x guavas and B has y guavas, the

1 1 :

X=X —?(}F+4x)tz (i)

And}r—ﬁ}r=x+ﬁ}r—4 ..[ii)

Solving (i) and (ii), we get

x =44, v =20

Total guavas = 44 + 20 = 64

$22. Ans.(d)

Sol.

Income — 4 4.4 4.8 5.2

Saving — 2 1.76 144 1.04

Exp. — 2 2.64 336 416
6.24 46

So, i % 100 = 5119%

$23. Ans.(d)

Sol.

A+B+C+D=>56

B+C+D=46A

= A+B+C+D=5.6A(adding A in both side)
S56lakh =56 A

= A =10 lakh

Similarly, A+ C+ D :%B

=A+B+C+D="_B

= B =12 lakh

Similarly, 4(A+ B+ D) =C

= A+B+D=25C

=A+B+C+D=3.5C

= C =16 lakh

Therefore D=(A+B+C+D)-(A+B+C)=18lakh

S$24. Ans.(b)
Sol.

Let Ram replaces x litres of 12% sol. with 399 solution.

27 w12

Now, quality of 1294 sol. in 27 litre =

~ After replacing we have volume of 129 sol.
27 x 12 12x 39x  324+27x

100 100 100 100
This will be equal to 27 litre of 21% sol.

324 +27x 21X 27

100 100
567 — 324 243
X = = =9
27 27

18.4 lakh
6.24 lakh
12.16 lakh

Complete Preparation for
SSC Exams

SSC

EXTREME

Video Courses, Test Series,
eBooks
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$25. Ans.(a)

Sol.
Year Rate of Commission Commission in values
1 2004 0.2 % 20,000 = 4000
25% (bonus) 0.25 x 4000 = 1000
2 16% 0.16 % 20,000 = 3200
3 120 0.12 % 20,000 = 2400
4 10% 0.1 x 20,000 = 2000
5-10 4% 6 x 0.04 x 20,000 = 4800

Total commission
= (4000 + 3200 + 2400 + 2000 + 4800) + (1000) = 17,400

$26. Ans.(a)

Sol.

House hold expenditure = 50%
Remaining = 50%

On Remaining amount he spends:-
Travelling = 25%

Entertainment = 30%

Shopping = 15%

Total = 70% = Remaining = (100 - 70) % of 50%
Rest amount = 900 = 3004 of 50%
= 15% =900

100% = 6,000

$27. Ans.(c)

Sol.

Total marks of test = 80

Ankita scored = 65% of 40 Question (1 mark)
=26

But she needs to score = 8004 of entire ‘test’
= 80% of 80

= 64 marks

So, she needs = (64 - 26) marks

=38

Percentage = x% of 40 = 38

=x=95

$28. Ans.(c)
Sol.

No. of students = 60
No. of teachers = 5
No. of sweets each students got = 20% of (60)

=12
Total sweets distributed among students
=12 X 60 =720
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No. of sweets each teacher got = 30% of (60)
=18

Total sweets = 18 X 5 =90

distributed among teachers

Total sweets = (720 + 90)

=810

$29. Ans.(d)
Sol.

Let total votes = 10004

Invalid = 1594

Valid votes = 85%)

15t candidate = 559 of 8504

So, 2" candidate = 45% of 85%
According to the question,
100% — 15200

85045 — 12920

Other candidate got = 45% of 12920
= 5814 vote

$30. Ans.(b)
Sol.
Total correct questions for getting 60% grade

60
=——xX 250 =150
100

409% of 125 = 50 questions
~ x% of 125 = 150 - 50

= 100 questions

=x="2%100=80
125

Required percentage = 80%
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